Mt FRISXI
M #HY2IZL(FLU=SKIL)
o2t J|=3H| (crel: M)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
oIS X1t 15,949,770 13,287,762 2,662,008
= 9,112,772
= 370,437
= 1,717,985
i 4,748,576
N 2AGH|(F=2=X1t) 36,400 34,720 1,680
[2Zd| 36,400 34,720 1,680
J|12&l 36,400 34,720 1,680
201 L2 3| 27,760 26,080 1,680
01 AtR22lt] 15,280 13,600 1,680
Ogt=2H| 11,200
0|=2AREE 100,00024% 179! 1,700
OAIRD1D] & SAIEE 8,000,000 8,000
0J|Et==2H| 1,500,000 1,500
OSHI(F2=Xt FRFE)
8,000&x1721x304! 4,080
02 2223H| 12,480 12,480 0
ORERZ(e-1e! & &)
2,000 6,000 12,000
ONdi7EE HEAPC SIS
40,0003+ 123 480
202 o4t 8,640 8,640 0
01 =LY 8,640 8,640 0
Oz20tI(sS2I)
180,000 x4 & S+ 128 8,640
Y EN2G(F0=X1) 6,900 6,300 600
SEMTHE2H 6,900 6,300 600
ol =2H A 6,900 6,300 600
203 LRF&| 6,900 6,300 600
01 J|22IHRF&| 3,300 3,300 0
OJ | H#2ZHRFAIH| 3,300,000 3,300
04 EA2IHRFEI| 3,600 3,000 600
ORNSAARZ A 300,0002 12 3,600
ZF0IREX] D8t 25t 613,915 582,833 31,082
= 14,123
& R, 174
i 507,618
X018 22 291,930 355,699 A63,769
= 14,123
= R, 174
= 185,633
S8 29 20,240 17,200 3,040
201 L2 3FH| 3,840 3,200 640
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A FoI=X D
2 FOIXEX| JOlet 25
ol =X018 29 CEREERD
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
01 AF22t2IHI 3,840 3,200 640
SEELIEINBIET=I=E=S)
8,000 +621%80A! 3,840
202 Ot 14,400 12,000 2,400
01 2LH0| 14,400 12,000 2,400
O=XI &R
200,0002%601x 122 14,400
203 2EZIH| 2,000 2,000 0
03 AR 2,000 2,000 0
OF0EXIMHIA HREZ
2,000,0002 2,000
NEENE ST 2,000 8,840 6,840
201 L2 A 2,000 2,000 0
01 AF222IHI 2,000 2,000 0
OMBISXNHEYB2A 22235 L AENS
l 2,000,000} 2,000
Mo{Xt Y 2D AFUXL K 3,750 2,650 1,100
301 Y2 A S 3,750 2,650 1,100
02 AFBIEEEAG2(FAAHS, L) 3,750 0 3,750
OAX S =t L AItoiH]
30,0002%153] 450
OSReID AFUXH AlAIKEI 2 A HIH
1,100,000 %33 3,300
ZZD st DS XA 2,618 0 2,618
[ 2,618
101 Q124 2,356 0 2,356
[ 2,356
04 2RISR 2,356 0 2,356
OXZE1D &M N=H| X0l 2,356
0el4d| 76,960 %26 2,001
[ 2,001
0RUHZHI(WEH S) 3,00024222 66
[ 66
ACHEE = 288,6002 289
[ 289
201 LB 262 0 262
[ 262
01 AF222IH 262 0 262
OZZ=1 M NSH XA 29|
261,720 262
[ 262
MWt nso12 65, 150 82,800 A17,650
[ 65, 150
201 L2 A 16, 150 400 15,750
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SA: Fo=X
= ZOIRX| DI8E 25
ol =X018 29 CEREERD
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
< 16, 150
01 AF2ZHel] 16,150 400 15,750
O Hoh7s S|
400,000< 400
[ 400
OMoiE SERU(HE, ©Q)
15,750,0002! 15,750
[ 15,750
202 O4H| 200 200 0
[ 200
01 =LH0IbI 200 200 0
OYReY Mol7s WSt
200,0002! 200
[ 200
302 Ol =LHaHE A2 46,800 81,600 34,800
[ 46,800
02 IOl = REt =B A Z 46,800 81,600 34,800
OOITHE! 3 H| 46,800,0002! 46,800
[ 46,800
401 AlEHIZ 20| 2,000 0 2,000
[ 2,000
01 Al&H 2,000 0 2,000
OYUAIZEHAIL QHHEXI T
1,000,000 %274 A 2,000
[ 2,000
NBIZ2RRE X2 (MEAY) 119,926 94,209 25,717
301 UBHBEZ2 119,926 94,209 25,717
NEEEITEE= 119,926 94,209 25,717
OINHEX=I=FI PN = 119,926
01| 786,000 % 1101% 128 103,752
0S| 5,00020%11Q1x222x 122 14,520
0Tl =H| 330,7202%50! 1,654
MBIEXHBHE 29 X 50,000 50,000 0
[ 15,000
= 35,000
307 I2H0|& 50,000 50,000 0
[ 15,000
= 35,000
TEE IS 50,000 50,000 0
OAMBIEXNRBHEH 2% X
50,000,000 50,000
[ 15,000
= 35,000
MET| 2| X|2AFS 28,246 100,000 AT1,754
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S F=0I=XY
HM: Z=0IXHR| Jlgt
cel: 2XD|3 29
SA - FHY - SRI(EIH) - HIRAR - BaS Gl
= 14,123
[ 9,406
= 4,717
SEErE] 28,246 100,000
= 14,123
[ 9,406
= 4,717
01 ALBIERE G2 (ZDEXHR) 28,246 100,000
OZ2LHY M 141,23021%2009! 28,246
= 14,123
[ 9,406
= 4,717
E N INEREEREWN 321,985 227,134
=Sx522d 321,985 227,134
101 Q124H] 89,985 65,634
JI2tHI22 &t 89,985 65,634
OSAH, e, Sx52 22| 77,657
0olE= 76,9602 %421%1802! 55,412
0=t 76,9602 %401x362 11,083
001 Xh2gf 76.,960S1*401%82 2,463
0=21%= 17,239, 04024 +4Q1%4 5% 3,104
0HE=2S 17,239, 04024 %4 01%3 . 545% 2,445
0L Q1A
2,445,0002 *401%12 81% 1,253
01E=E 17,239, 04024 %401%1 . 75% 1,207
OMHHEE 17,239, 04024 %401 % 1% 630
Ot =R 3 2| 12,328
0123 76,9602% 1011202 9,236
=S ES= 76,9602 1Q1x242 1,848
0 Xt=E 76,9602 %101%62 462
0AUEE 11,544, 0002 +3.545% 410
0= QI 410,0002%12.81% 53
01EEE 11,544,0002%1.75% 203
OAHTHE & 11,544, 0002 * 1% 116
201 Yty 110,000 103,000
01 Al222/H 10,000 5,000
Ogetegt| 1,000,00024* 10742 10,000
02 222 100,000 98,000
OS0IZH|, At el s
200,000 % 107 A+ 122 24,000
o2 ¢
566,660 104 Ax 122 68,000
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SA: ERI=X D
g UK Jre A5t
Pl FOI0IZALBIRNLEY (cis] mis)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OZS==2EAE AZHI(XH)
8,000, 00021%1 4 & 8.000
401 AIZHIZL S0 118,000 55,000 63,000
01 Al2H| 118,000 55,000 63,000
O4mt2 FR0ISAIE RXA2HL
2,000,000+ 100 2 20,000
OREP=T|5IT AL
15,000,000& 15,000
OUEH=X2I2 ALE
81,000,000& 81,000
Oxed . sHesSIEI 2 (= SSEUH)
1,000,000 274 4~ 2,000
405 AHAHE SHI 4,000 3,500 500
01 AL =ZFSHI 4,000 3,500 500
OMzHEXZZ2 “SHIS(HWED) Wil
4,000,000 4,000
=t 28 22l € X 2,218,608 1,954,377 264,231
= 445,193
o 1,773,415
2R 197,688 297,697 A100,009
& 1,793
i 195,895
SEAE =2 13,556 6,446 7,110
201 €et23| 3,556 3,446 10
01 Al 22| 900 840 60
O8SAIE A2 =4H|
50,0002+ 122 600
OBENL B2l 2ETY
100,00024%32 800
02 T2 2,656 2,606 50
OREIIG2A BTA MR
35,0002122 420
Oz MIe2 3,000&*12& 36
OFHIIESE F2EHH|
250,0002+8& 2,000
OBFIIEDY FIAXHA 242
200,000 *12] 200
401 AIZHIZL S0 10,000 3,000 7,000
01 Al2Hl 10,000 3,000 7,000
OBSZAE SA2A(EF M=, =4 S)
10,000,000 10,000
S8e & /BN NE 120,130 38,430 81,700
201 28t=3| 3,130 1,630 1,500
01 At22tel] 3,130 1,630 1,500
O=EE, ?I8H S Bs3S 7Y
1,300,000 1,300
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A FI=XD
H: 2 28 22l 2 1Y
el BEdd (Cro: ®ol)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
PR 50,00024%13] 50
OAERYE| XY 7.720
ISEE=32 FA22 3,000,000 3,000
0ABIAIA OFFZIE|H] 100,000 % 123 1,200
052D| orEae|H| 160,000 % 123 1,920
0AZAIA FH| 800,00021%13] 800
052D| B4 800,0002*13] 800
405 RHAHE SH 600 600
02 SATY 600 0 600
OSs2Es38 29 7Y
15,00024*40H 600
S=sIIEY 29 48,584 241,143 A192,559
101 Q14| 33,804 32,327 1,477
04 M 22X ES 33,804 32,327 1,477
Ogpzsz|Ea e 33,804
0olE= 76,9602 %101%310 23,858
0F=xt==< 76,960 %101x522! 4,002
0 Xt==S 76,960R%101x 112! 847
0=pIi=2 27,860,000 +4. 5% 1,254
0HSEE 27,860,00024+3.545% 988
0LCQIE) | QUL S 988,00024*12.81% 127
one=s 27,860,0002%1.75% 483
0CHHEE 27,860,000 x 1% 279
0EIR=EZ 76,96024+302 %3102 /3652 1,961
201 L2 S| 14,780 8,816 5,964
01 AlR2:2IH| 4,240 3,640 600
ORQIAHIAAL 22
170,000 %122 2,040
Od=ael & 290| 100, 0002 % 12 1,200
OJ|Et==&H| 1,000,000 1,000
02 22249 10,540 5,176 5,364
O AlEZ 20,0002 %122 240
OdNslea 5,000212& 60
O&IIRs 450,000+ 122 5,400
O==23 20,0002 x22 40
OAHE Sz 400,00024+ 122 4,800
SECHXI 2,020,920 1,656,680 364,240
[ 443,400
= 1,577,520
SECH 22 120,600 120,600
301 LBE A2 24,300 24,300 0
11 SAAHI X2 24,300 24,300
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OH
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KIo

Hlw

dEE
Ofl &b oK

96,300
18,200

78,100

5,500
1,500

2,500
1,500

1,500
2,500
2,500
1,800
2,500
2,500
96,300
18,200
3,400
3,200
4,200
1,800
1,500

1,800
2,300
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A
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2
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SN ZO=XD
Hu: 20 9 22l U X
ool BSECHHXIA (crol: xi21)
S - HB . EPI(S]H) - MRAIS - BAS Ol &k Gl HImE=2t
OCEHdEdRINERIMEZXE 29
11,300,000& 11,300
OF=slZL=20s s 29
1,000,000& 1,000
SEME A2 30,000 8,000 22,000
307 212t01™ 30,000 8,000 22,000
04 QIZHHAIAIE 2= 30,000 8,000 22,000
ONMET 532 229 ¢ stits &AL
30,000,000 *13] 30,000
SRS XA 1,101,840 808,560 293,280
= 401,400
i 700,440
301 EtEEZ 1,101,840 808,560 293,280
& 401,400
i 700,440
03 AFSIEE X262 (KIS THA) 1,101,840 0 1,101,840
C6.258 8 7S Holl=&
463,000,000& 468,000
= 208,800
i 259,200
OgE&ENERSA Hul=Y
610,200, 000& 610,200
& 189,000
i 421,200
ORI AILRAZS
300,000& 502! 15,000
OSYRIN 85 Yo+2
8,640,000& 8,640
= 3,600
i 5,040
2R3 & FEXZ 648,480 595,920 52,560
301 LEBNZ 648,480 595,920 52,560
03 AFSIEE X262 (KIS THEA) 648,480 0 648,480
ORE il RS+EX, MA2E, =X
=g, 34238) 70,0002 %20001 % 128 168,000
O3a4ZZE7S Hill=E
70,000 *4021+12& 33,600
OS4YLRTN Yo+
70,0003 +521x12& 4,200
OR24ER3T, RF Y+
50,0002 *40Q!x12& 24,000
OEXKFSA UISLAHOIR!) Holl+=
70,0003 35021+ 12& 294,000
O=E2Uat BE B=ZHed=a
50,000&*1,020Q!%23| 102,000
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SN FOI=XID
g = 22 2l A
cel BEHAXE (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
O=It2 24 At &) SHHSE XA
1,350 1,4000 1% 122 22,680
dExd=E XA 120,000 123,600 23,600
= 42,000
i 78,000
301 Et2MS 120,000 123,600 3,600
= 42,000
i 78,000
03 AR 2E X =5 S (XL THH) 120,000 0 120,000
ON22Y 95 Yo+
120,000, 0002 120,000
& 42,000
i 78,000
2D ZHEEE(FIHS0) 1,245,001 1,254,250 N9,249
= 996,000
= 124,500
o 124,501
Has =A=SXKE 1,245,001 1,254,250 A\9,249
= 996,000
& 124,500
i 124,501
F=HSN 1,245,001 1,254,250 N9,249
= 996,000
& 124,500
i 124,501
301 LBtE2NS 900, 103 841,250 58,853
= 720,082
= 90,010
i 90,011
01 AR 2E X3S (FLEXTHE) 900, 103 841,250 58,853
OI=FNHS0H2A LS (ES2A)
900, 103,000& 900,103
= 720,082
= 90,010
i 90,011
403 MR HSAH=01A 344,898 413,000 268,102
= 275,918
= 34,490
i 34,490
02 SIS0 Ut AAE AL 344,898 413,000 268,102
OJEFHSHF2 =ERXSH (S22
of/Z22l) 344,898,000 344,898
= 275,918
= 34,490
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SA: Fo=X
HE: 20| ZMEPE(FNZ0)
£l MAS FHEXXE (Ctol: ®M2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
[ ]] = 34,490
EEEIEEEREEN 1,204,771 1,000,027 204,744
= 485,893
= 208,625
[ 90,7%
= 419,457
SEIEINNE] 1,056,992 867,902 189,090
= 452,693
a 208,625
[ 77,759
= 317,915
SEEINEVNEEEY 9,780 9,780
201 LB 2,580 2,580 0
01 AlR2r2lH] 2,580 2,580 0
Os|U=xX2E EL 2123 S M=
165,0002 %43 660
OSEHI (B Y= LR4)
8,0004%3Q1x804! 1,920
202 01t 7,200 7,200 0
01 =203t 7,200 7,200
O3|L=X g P48
200,00024%301+ 122 7,200
NENEEESYE] 1,200 31,600 A30,400
201 L2y 1,200 1,600 2400
01 AlR2:2|H| 1,200 1,600 2400
OXIHAB & Rt AIMHEA L 20t
SN MR 20,0002 *3052+23] 1,200
NENEEES I 39,200 37,200 2,000
201 LB 10,800 10,800 0
01 AlR2t2lH] 10,800 10,800 0
OUHE/AILEOIM 5lol4g
70,0002 %2001 %63 8,400
OAIRE D 5oy
20,0002 %3001 %43 2,400
301 LBE A2 1,000 1,000 0
11 SAAHI X2 1,000 1,000
OB 1s ¥ 3 &A
50,0004x501%43] 1,000
307 2120l 27,400 25,400 2,000
04 DIZFHAIAIZI B 23,000 23,000 0
OFoM A3t A
5,000,000 %13 5,000
OXlo=x|etes| 13,000,0002*13] 13,000
OAB|= X010 =5t S8
5,000,000 %13} 5,000

- 503 -




A FoI=X D
HHM: IEH =SIXNY L HA=A
=l Y= (cHol: M)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
NEENNEEFEEEEIEES 2,400 2,400 0
OFolHl AtRA 29
200,000 128 2,400
11 ALBI 2 XA E X 2,000 0 2,000
OMIES| U LS OlS=22K2 2
2,000,000 2,000
XIAISI SR OIH HEES QI 42,321 42 156 165
[ 6,000
= 36,321
307 2I2H0| & 42,321 42,156 165
[ 6,000
= 36,321
10 AIBIE XA EHE2HHIE X 42,321 42,156 165
OXISAISI 2R OIH MEER Q12
3,526, 74024+ 101x 122 42,321
[ 6,000
= 36,321
STHXIGAISI BN 2 11,000 11,000 0
[ 3,300
= 7,700
201 L2 S 5,500 5,500 0
[ 1,650
= 3,850
01 AF222IHI 5,500 5,500 0
OSHXIAAE EFE M 29|
500,000+ 11H S 5,500
[ 1,650
= 3,850
301 YRHEAS 5,500 5,500 0
[ 1,650
= 3,850
02 AL 2 EE 2GS (FAHS, KLY 5,500 0 5,500
OSHXIAAE SEE M XK
500,000+ 11H S 5,500
[ 1,650
= 3,850
SEARHIZ2IALY 7,600 8,000 A400
= 3,800
= 3,800
201 L2 A 3,600 4,000 A400
= 1,800
= 1,800
01 AFRZH2IHI 3,600 4,000 A400
OEE2E £ 7Y 2,960,000 2,960
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SA: Fo=X
Ha: QEE =SXXY 2 G2AE
ool SlUSAXE (cro): =2l
SH - EHH . O(3) - NRAIY - BAS Ofl st Gl RS2
= 1,480
= 1,480
OSs At Z22IA WS
80,0002 %43 %201 640
= 320
= 320
301 LBtEE3 4,000 4,000 0
= 2,000
= 2,000
01 AIBIERE LG Z2(ZDEXTHR) 4,000 4,000 0
SEAAIZRIHAR X2
500,0002+87t7 4,000
= 2,000
= 2,000
SEHALIZEIAF 0124 67,752 66,624 1,128
= 33,876
= 33,876
101 Q14| 67,752 65,100 2,652
= 33,876
= 33,876
02 J|EtEI B 33,876 28,680 5,196
OSEAYIZ2IAHAIZHE R LIIHZRS) 33,876
02DIH 92 JI=Z 25,831,0002%10! 25,831
= 12,915
= 12,916
0DIM 92 A= 2,913,000 10! 2,913
= 1,457
= 1,456
OAlIZERI 2R 9, 1902*20A| 2+ 122 2,206
= 1,103
= 1,103
054224 AIHHEI RIS
1,240,0002% 10! 1,240
= 620
= 620
0tELY 100,000 % 1Q1x 128 1,200
= 600
= 600
0FMZ Al 486, 00081+ 19! 486
= 243
= 243
03 ZRE(RIHA)22XHES 33,876 36,420 A2,544
OESAIYIZ2IAHZREA) 33,876
0123 2,452,95024%101x 122 29,436
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A FOIZRID
M UEE SN U HRBA
[m]

Sl SlU=XINE (cio: x5
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
= 14,718
= 14,718
0&REHATE 150,000 %101+ 122 1,800
= 900
= 900
0ItELE 220,000+ 12 2,640
= 1,320
= 1,320
SEHALIZEIAL QIAHI(XHA) 8,065 0 8,065
101 Q1] 5,912 0 5,912
BIEEEES 1,868 0 1,868
OAIZHEER 2D HB2 1,868
0FUSA] 1,194,000& 1,194
0L DHE A 7,40521%101x91 A 2 674
03 2R (RIHA) 22 XHES 4,044 0 4,044
O22= 4,044
0S8 E St 2,452 9502 %101 %60%+23] 2,944
OAIZERI =& 9, 160%10A| 2H*1Q1% 12 1,100
204 R4 AH| 2,153 0 2,153
02 ZIZ2EXH| 1,628 0 1,628
OAIZIEEH AI B2 ZZBXH]|
135,62020% 101+ 122 1,628
03 SEARAH| 525 0 505
OAIZIEEH AI B2 Hol &=
43,7502 1Q1x 128 525
SEAIZCIAL 2 12,357 19,382 NAT7,025
202 O4H| 4,080 4,080 0
01 2UH0i| 4,080 4,080 0
OE&0l 170,00024x201x 122 4,080
304 HBRY3E 8,277 10,226 A1,949
02 2DIAALEZ 1,558 2,107 AB549
OAIZIEERH AIHB2 20IHLEE J)
= 1,558
020121228 2g2
38,942,0002 % 101%3.545% 1,381
00| QURSE ez
1,381,0002%101%12.81% 177
04 ZRE(RIHA) 22X BEH2RHYS S 6,719 1,405 5,314
OAZIEEH AI B2 DEEE I
&3 38,942,0002% 121%0. P 351
ORI BE2 J|p2u2 6,368
02012 222
2,853,2502 % 101+ 122%4 . 5% 1,541
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M ==X
M oSS SAKE L XAESA
A NN (cHol: M)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
(EREE ==
2,853,250 3 x 121+ 122 *3.545% 1,214
0LQIEDQUEY 2H3
1,214,000&x12.81% 196
onges 23
2,853,250 3*11x 123 «1.75% 600
WHEE 223
2,853,250 3% 121123 1% 343
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